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R17M6-Spektralwerte Ysum=100
x−R17M6,s(λ)=A11l

−
R17M6,s(λ)+A12m

−
R17M6,s(λ)

+A13s
−

R17M6,s(λ)
A1j 2,6000 −1,3000 0,7000 (λ=570)

D65:Σx−R17M6,s(λ)=192,46
xR17M6,s=0,4837
yR17M6,s=0,2508
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R17M6-Spektralwerte Ysum=100
x−R17M6,s(λ)=A11l

−
R17M6,s(λ)+A12m

−
R17M6,s(λ)

+A13s
−

R17M6,s(λ)
A1j 2,6000 −1,3000 0,7000 (λ=570)

D50:Σx−R17M6,s(λ)=184,45
xR17M6,s=0,5090
yR17M6,s=0,2706
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R17M6-Spektralwerte Ysum=100
x−R17M6,s(λ)=A11l

−
R17M6,s(λ)+A12m

−
R17M6,s(λ)

+A13s
−

R17M6,s(λ)
A1j 2,6000 −1,3000 0,7000 (λ=570)

P40:Σx−R17M6,s(λ)=186,14
xR17M6,s=0,5362
yR17M6,s=0,2797



CG621−4A_1

Wellenlänge λ /nm
400 500 600 700

A00

0,0

2,5

5,0

7,5

10

R17M6-Spektralwerte Ysum=100
x−R17M6,s(λ)=A11l

−
R17M6,s(λ)+A12m

−
R17M6,s(λ)

+A13s
−

R17M6,s(λ)
A1j 2,6000 −1,3000 0,7000 (λ=570)

A00:Σx−R17M6,s(λ)=192,60
xR17M6,s=0,5892
yR17M6,s=0,2978
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R17M6-Spektralwerte Ysum=100
x−R17M6,s(λ)=A11l

−
R17M6,s(λ)+A12m

−
R17M6,s(λ)

+A13s
−

R17M6,s(λ)
A1j 2,6000 −1,3000 0,7000 (λ=570)

E00:Σx−R17M6,s(λ)=199,88
xR17M6,s=0,4999
yR17M6,s=0,2500
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R17M6-Spektralwerte Ysum=100
x−R17M6,s(λ)=A11l

−
R17M6,s(λ)+A12m

−
R17M6,s(λ)

+A13s
−

R17M6,s(λ)
A1j 2,6000 −1,3000 0,7000 (λ=570)

C00:Σx−R17M6,s(λ)=200,46
xR17M6,s=0,4836
yR17M6,s=0,2428
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Wellenlänge λ /nm
400 500 600 700

P00

0,0

2,5

5,0

7,5

10

R17M6-Spektralwerte Ysum=100
x−R17M6,s(λ)=A11l

−
R17M6,s(λ)+A12m

−
R17M6,s(λ)

+A13s
−

R17M6,s(λ)
A1j 2,6000 −1,3000 0,7000 (λ=570)

P00:Σx−R17M6,s(λ)=196,04
xR17M6,s=0,5209
yR17M6,s=0,2632
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Wellenlänge λ /nm
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R17M6-Spektralwerte Ysum=100
x−R17M6,s(λ)=A11l

−
R17M6,s(λ)+A12m

−
R17M6,s(λ)

+A13s
−

R17M6,s(λ)
A1j 2,6000 −1,3000 0,7000 (λ=570)

Q00:Σx−R17M6,s(λ)=207,57
xR17M6,s=0,4798
yR17M6,s=0,2344


